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1 RER M 37 37| 3.6 |33.4 1A SCHE 46 46| 8.4 [37.6
201K BB 42 42| 8.4 |33.6 b2 |FREE BT 46 46| 8.4 |37.6
3B kst 36 36/ 1.2 |34.8 531U & 46 46| 8.4 |37.6
410 BB 42 42| 7.2 |34.8 b4| &+ (= 45 45/ 7.2 137.8
5 TH EH 46 46| 10.8 | 35.2 55| BT —HB 39 39| 1.2 |37.8
6/ 5H)I T 39 39| 3.6 |35.4 56| $#EE 44 44| 6.0 |38.0
TER R 38 38| 2.4 |35.6 7| A e 44 44 6.0 | 38.0
8| B Fnk 38 38| 2.4 |35.6 L8|V RE B 44 44| 6.0 |38.0
9%+ KT 38 38| 2.4 35.6 59/ AT 43 43| 4.8 |38.2
10 KE Hik 37 37] 1.2 |35.8 60| (LR ik 49 49]10.8 [38.2
11| $nA Pk 37 37 1.2 |35.8 61/h0 FRF 43 43| 4.8 |38.2
12 8iR & 37 37| 1.2 |35.8 62| K ER 43 43| 4.8 |38.2
134N & 43 43| 7.2 |35.8 63| AT 81T 43 43| 4.8 |38.2
14|57 H)I| Fn¥B 49 49/ 13.2 | 35.8 64| ILEFH FII K 42 42] 3.6 |38.4
15| +/H 1EE 43 43| 7.2 |35.8 65| HK FEHET 42 42| 3.6 |38.4
16[{-IESF = 36 36/ 0.0 [36.0 66|21 #K 48 48] 9.6 |38.4
17 R 7 42 42| 6.0 36.0 67 /N ME 41 41 2.4 |38.6
18| Z Bl BT 41 41| 4.8 |36.2 68| f )1l EH 47 47| 8.4 |38.6
IRETE WSS 41 41 4.8 [36.2 69 il BT 53 53| 14.4 |38.6
20 HA ER 47 47/10.8 |36.2 70|[FEH FE 40 40| 1.2 |38.8
21 |y KRILER 40 40| 3.6 |36.4 T04%H Bk A 40 40| 1.2 |38.8
221t FHH 40 40| 3.6 |36.4 T2/ EH ER 46 46| 7.2 |38.8
23 |8 F 40 40/ 3.6 |36.4 B)NE = 46 46| 7.2 |38.8
24|/NEL Fn B 40 40| 3.6 |36.4 T4\ #JR FEE 45 45/ 6.0 [39.0
25 |l FEHk 46 46| 9.6 |36.4 (BRI N 51 51112.0 [39.0
26 1B HtFH 39 39| 2.4 |36.6 6 RE B% 51 51112.0 [39.0
27 5K ERF 45 45| 8.4 |36.6 TTfEH 44 44| 4.8 39.2
28| K HT 44 44| 7.2 |36.8 = 44 44| 4.8 [39.2
29 2 BER 44 44| 7.2 |36.8 9 & HE 49 49/ 9.6 |39.4
30| FFIR & 37 37/ 0.0 |37.0 80| mitE A 49 49/ 9.6 |39.4
31/h=E BER 37 37/ 0.0 |37.0 81| T 49 49/ 9.6 |39.4
32| #EE 55 43 43| 6.0 [37.0 82| F M = 42 42| 2.4 139.6
33| 43 43| 6.0 |37.0 83|ILUH ¥%Z 53 53/ 13.2 |39.8
34|50 JE— 37 37/ 0.0 |37.0 84| KitE 16— 52 52/12.0 |40.0
35 ki — K 43 43| 6.0 |37.0 85| 52 521 12.0 |40.0
36| AT R 42 42| 4.8 |37.2 86| 7% T 57 57/ 16.8 | 40.2
37|E8 4E 42 42| 4.8 [37.2 87| kil EE T 50 50| 9.6 |40.4
38| KK Fsk 42 42| 4.8 |37.2 88| 7tk FiH 49 49| 8.4 [40.6
39 BRIE A1 42 42| 4.8 |37.2 89|/ AT 42 421 1.2 140.8
40 KR FR 42 42| 4.8 |37.2 90| EA HESE 48 48| 7.2 140.8
415 Rk R 48 48/ 10.8 |37.2 91 Hr— 45 45| 3.6 |41.4
42/NBK SF 48 48]10.8 |37.2 2|0 Bk 51 51| 9.6 |41.4
43| 7B % 42 42| 4.8 |37.2 93|18 5 bt 51 51| 8.4 |42.6
44|51 4THE 41 41| 3.6 |37.4 94 |F 0 & 57 57| 14.4 [42.6
45 RGN e 41 41| 3.6 |37.4
46 | H 4 41 41| 3.6 [37.4
471w EH 41 41] 3.6 |37.4
48 [FHBE [N 41 41| 3.6 |37.4
49K 155 40 40| 2.4 |37.6
50| KB R 40 40| 2.4 37.6
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